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| EPmrcy):
",\ _ 1 Solve the equation 3 sin?6 — 2 cos 8 — 3 = 0, for 0° < 0 < 180°. i @// 2
I¢ NS
% RasHED
s
4 2 Solve the equation
| sin2x+ 3 cos2x=0,
N
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LY
Q 3  Showing all necessary working, solve the equation 6sin’x — 5cos®x = 2sin®x + cos’x for
S~ 0°<x<360°. [4]
-
N 4 (i) Solve the equation 4sin’x + 8 cosx — 7 = 0 for 0° < x < 360°. [4]
N
&~
\i'\ (i) Hence find the solution of the equation 4 sin” (16) + 8cos (36) =7 =0 for 0° < 6 < 360°.  [2]
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(\1’\ , 1 - tan® x
@ Prove the identity ———— = 1 — 2sin’ x.
B s 4 1 +tan?x S
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4]

&

‘ ~ & Solve the equation 3 sin?6 = 4 cos 6 — 1 for 0° < 6 < 360°.

v

o
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___ TRIGONOMETRY- Identity & Solving

7 (i) Solve the equation 2cos?60 = 3sin 0, for 0° < 6 < 360°. [4]

L¥ S (ii) The smallest positive solution of the equation 2 cos?(n0) = 3sin(nf), where n is a positive

% integer, is 10°. State the value of n and hence find the largest solution of this equation in the

o interval 0° < 6 < 360°. [3]
8 (i) Show that 3sinxtanx —cosx + 1 = 0 can be written as a quadratic equation in cosx and hence
solve the equation 3 sinx tanx — COsSX + 1=0forO<x<m. [5]
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___ TRIGONOMETRY- Identity & Solving

9 Given that 6 is an obtuse angle measured in radians and that sin 6 = k, find, in terms of k, an expression

for |
< (i) cosé, [1] ;
%7 ’\ (ii) tan @, [2] ’;
J¢ (iii) sin(6 + ). (1]

10 The acute angle x radians is such that tan x = k, where & is a positive constant. Express, in terms of k,

N (i) tan(m -x), [1]
N

\\ (i) tan(37 - x), [1]
O (iii) sinx. (2]
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11 Given that cos x = p, where x is an acute angle in degrees, find, in terms of p,

2] -

N
\\\ (i) sinx, 1]
B . (11
T (ii) tanx, |
ke (iii) tan(90° - x). (1] f
12  Given that x = sin™! (%), find the exact value of
(i) cos®x,
= (2]
ﬁ. (i) tan®x.
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Identity & Solving

The reflex angle 6 is such that cos 6 = k, where 0 < k < 1.
|
(2]

(1) Find an expression, in terms of k, for
(1]

13

(A) siné,
() tan®. '
(21

(1) Explain why sin 26 is negative for 0 < k < 1.

(i) Express the equation 3 sin 8 = cos 6 in the form tan 6 = k and solve the equation for 0° < 6 < 180°.
(2]
(4]

A
Y
2K
M

iy,

(ii) Solve the equation 3 sin®2x = cos?2x for 0° < x < 180°.
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~ TRIGONOMETR'

- Identity & Solving

15 (i) Show that the equation

2sin 0 + cos 6
sin O + cos 6

= 2tan 6 may be expressed as cos? 6 = 2 sin? 6. [3]
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(ii) Hence solve the equation

sin O + cos 6

2sin 6 + cos 6

= 2tan 0 for 0° < 6 < 180°.
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 TRIGONOMETRY- Identity & Solving

(i) Express the equation sin 2x + 3 cos 2x = 3(sin 2x — cos 2x) in the form tan 2x = k, where k is a
(2]

43¢

Ny constant.

©

R (i) Hence solve the equation for —90° < x < 90°. [31
~ 17 (a) Find the possible values of x for which sin™'(x*> - 1) = %77:, giving your answers correct to
~ 3 decimal places. [3]

\1 |
[va) |
‘7{ (b) Solve the equation sin(26 + 47) = 1 for 0 < 6 < , giving 6 in terms of 7 in your answers.  [4] “
' 1

55258711 rashed.saba@gmail.com

Copyright©MRC® :( 9709-PM-1)-2017

Mob: +874 55373670/ 33767500
:chymrc.




TRIGONOMETRY- Identity & Solving

1@ (@) Show that the equation

ool
o)

1
os 0

and hence solve the equation

(b)

=152
A

+ 3sin Otan 6 + 4 = 0 can be expressed as

3cos’0—4cos—-4 =0,

> <

y=acosx—b

! +3sinftan 6 + 4 = 0 for 0° < 6 < 360°. [6]
cos 0

The diagram shows part of the graph of y = acosx — b, where a and b are constants. The graph
crosses the x-axis at the point C (cos™' ¢, 0) and the y-axis at the point D (0, d). Find c and d in

terms of a and b.
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~ TRIGONOMETRY- Identity & Solving
b 2 2 2 . . . 2
Qt ™ f 9 0] Express the equation 2 cos®6 = tan®0 as a quadratic equation in cos* 6. [2]
T _
B¢ (1) Solve the equation 2 cos?6 = tan?6 for 0 < 6 < 7, giving solutions in terms of 7. [3]1
(; 0 Hence solve, for 0° < 6 < 360°, the equation
- 1+cos® 1-cosd
\V’ ) sin@( + COSs 3 cos ) _ 3]
LR l-cosf 1+cos6
(%)
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